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An engineer is troubleshooting AToM on an 10S XE router and receives an error when creating the xconnect. Which
command does he need to complete to create the xconnect in AToM?

A. encapsulation mpls
B. encapsulation 12tpv3
C. protocol 12tpv3

D. protocol none

Correct Answer: A

QUESTION 2
PE1 CE1l
ip vrf celvpn interface FastEthernet0/0/0
rd 111:1 ip address 192.168.0.2 255.255.255.0

route-target export 111:1
route-target import 222:2

interface FastEthernet0/0/0
ip vrf forwarding celvpn
ip address 192.168.0.1 25E5.255.255.0

router ospf 1 vrf celvpn

network 192.168.0.0 0.0.0.255 area 1

interface FastEthernet0/0/1
ip address 192.168.1.2
255,255 . 255,252

router ospf 100
network 192.168.0.0 0.0.0.255 areal

router bgp 65600
neighbor 192.168.1.1 remote-as 65600

Refer to the exhibit. If the two devices are operating normally, which two conclusions can you draw from this

configuration? (Choose two.)

A. CE1 must use OSPF to establish a neighbor relationship with PE1.

B. PE1 labels the routes it learns from CE1 with the route-target 222:2 and shares them with its VPNv4 peers.

C. PEL1 labels the routes it learns from CE1 with the route-target 111:1 and shares them with its VPNv4 peers.

D. The PE-CE routes between the devices are being exchanged by OSPF

E. CE1 is supporting CSC.

Correct Answer: AD

QUESTION 3
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A network engineer is implementing Layer 3 MPLS VPNSs on Cisco I0S/IOS XE PE routers. Which PE-to-CE routing
protocol requires a separate routing process to be created for each VRF?

A. RIPv2
B. OSPF
C.BGP

D. EIGRP

Correct Answer: B

QUESTION 4

Refer to the exhibit.

rEl#show mpls forwarding

Local Outgoing Prefix Outgoing Next Hop Bytes
Label Label or ID Interface Switched
22095 Pop 192.168.10.1/32 Hu0/0/0/2 192.168.1.2 100000
22096 22286 192.168.20.1/32 Hu0/0/0/2 192.168.1.2 1000
22098 22288 192.168.30.1/32 Huo/0/0/2 192.168.1.2 250000
<output omitted>

What is shown in this output?

A. local and outgoing abels are updated in hardware

B. BGP is used between neighbors that are exchanging MPLS labels
C. LDP neighbor statuses

D. the labels received and advertised on PE1

Correct Answer: D

QUESTION 5

Which BGP feature causes to replace the AS number of originating router with the AS number of the sending router?
A. route reflectors

B. route dampening

C. confederations

D. AS override

Correct Answer: D
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Reference: https://community.cisco.com/t5/networking-documents/understanding-bgp-as-override-feature/ta-p/3111967

QUESTION 6

R1

router bgp 65010

no bgp default ipvd-unicast

neighbor 192.168.1.1 remote-as 65010
address-family ipv4

neighbor 192.168.1.1 activate

Refer to the exhibit. Which statement describes the result of this BGP configuration?

A. R1 operates using IPv4 and VPNv4 address families.

B. R1 operates on IPv6 only because the bgp default ipv4-unicast command is missing.
C. R1 establishes a VPNv4 eBGP relationship with neighbor 192.168.1.1.

D. R1 establishes an iBGP relationship with peer 192.168.1.1.

Correct Answer: D

QUESTION 7

In an Ethernet Virtual Circuit environment, which restriction do bridge domains have when STP is running?
A. The STP mode must be RSTP or PVST+

B. Bridge domains must be mapped to a different VLAN.

C. The STP mode must be MSTP

D. Bridge domains must belong to different MST instances.

Correct Answer: C

Reference: https://www.cisco.com/c/en/us/td/docs/routers/asr920/configuration/guide/ce/b_ce_xe-313s-
asr920-book/b_ce_xe-313s-asr920-book_chapter_01.html#reference_770349446ED24E83821EF701DDC46BFD

QUESTION 8
How does Layer 3 VPN traffic traverse an ISP network?

A. Devices on the network use MPLS labels to share VPN routes between P routers in the network.
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B. Devices on the network use LSAs to share routes between P routers in the network.

C. Devices on the network use MPLS labels to move VPN traffic through the network.

D. Devices on the network use GRE tunnels to move traffic between VRFs.

Correct Answer: C

QUESTION 9
Router# show mpls forwarding-table
Local Outgoing  Prefix Bytes label Outgoing NextHop
label label or VC or TunnelId switched interface
29 Pop tag 10.22.22.22/32 0 Gi1/1/0 172.32.01
32 0 10.24.24 24/32 0 Gi1/0/0 192.168.1.2
33 0 172.24.24.24/32 0 Gi1/0/0 192.168.1.2
34 0 192.168.0.0/8 0 Gi1/0/0 192.168.1.2
35 0 10.25.25.25/32 0 Gi1/0/0 192.168.1.2
36 0 172.16.0.0/8 0 Gi1/0/0 192.168.1.2
37 25 10.26.26.26/32 0 Gi1/0/0 192.168.1.22
38 0 10.34.34.34/32 0 Gi1/0/0 192.168.1.2

Refer to the exhibit. Which statement about this output is true?

A. The router IP 192.168.1.2 sent an implicit null, and the output is from the penultimate LSR.
B. The adjacent router is the egress LSR and has mpls Idp explicit-null configured.

C. The adjacent LSR router configured mpls label range 0.

D. The zero in the second column is the normal behavior of an egress router LSR.

Correct Answer: B

QUESTION 10

Which optional information can be included with an IPv6 ping to support the troubleshooting process?
A. IPv4 IP address

B. source MAC address

C. destination MAC address

D. IPv6 hostname

Correct Answer: D
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Reference: https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/ipv6/configuration/xe-3s/ipv6-xe-36s-book/ip6-mng-
apps.html

QUESTION 11

An ISP provides a major client MPLS VPN for managed services. The MPLS engineering team needs to use the
advanced VPN feature of selective VRF import so that only specific prefixes are present in the required VPNs. Which
aspect of this feature must the team consider?

A. A route must pass the import route map first and then the route target import filter.

B. The routers that are imported in the VRF can be BGP and IGP routes, so other match conditions in the route map,
besides communities, can be used.

C. The import-map command is applied under the PE interface that connects to the CE router.

D. A route is imported into the VRF only when at least one RT that is attached to the route matches one RT that is
configured in the VRF and the route is permitted by the import route map.

Correct Answer: D

Reference: https://www.ccexpert.us/mpls/configuring-selective-vrf-import.html

QUESTION 12

In a typical service provider environment, which two tools are used to help scale PE router connectivity requirements?
(Choose two.)

A. route reflectors

B. VPNv4 address family
C. originator 1D

D. cluster ID

E. confederations

Correct Answer: AE

QUESTION 13

In Layer 3 MPLS VPN implementations, if some of the VPNv4 routes on one PE router do not appear on another PE
router, what could be the problem?

A. RD mismatch between the PE routers
B. RT export and import configuration errors

C. VRF name mismatch between the PE routers
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D. RD export and import configuration errors
Correct Answer: B

Reference: http://blog.initialdraft.com/archives/1537/

QUESTION 14

Which two statements describe primary differences between MPLS Layer 2 and Layer 3 VPNs? (Choose two.)
A. Layer 2 VPNs use IPsec tunneling, but Layer 3 VPNs use L2TPv3 tunneling.

B. Layer 2 VPNs use AToM, but Layer 3 VPNs use MPLS/BGP.

C. Layer 2 VPNs use BGP, but Layer 3 VPNs use VPLS.

D. Layer 2 VPNs use L2TPv3 tunneling, but Layer 3 VPNs use GRE tunneling.

E. Layer 2 VPNs use IPsec tunneling, but Layer 3 VPNs use pseudowires to provide tunneling.

Correct Answer: BD

QUESTION 15

While configuring the VRF Selection feature, you get an error message after typing the below statement:
Router(config)#no vrf selection source 172.16.0.0 255.255.0.0 vrf VRF1

Which action caused this message?

A. the entry of an inconsistent IP address and mask for VRF Selection

B. an attempt to configure a VRF instance on an interface that already has VRF Selection configured

C. an attempt to remove a VRF Selection entry that does not exist

D. an attempt to configure a VRF Selection table that does not exist

Correct Answer: C

Reference: https://www.cisco.com/c/en/us/td/docs/ios/12_2/12_2sz/feature/guide/122szvrf.html
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